UNIVERSITY OF MISSOURI - Columbia

Tuition Rates

Beginning with the 2017 Fall Session $\,$

May 23, 2017

TUITION				2016-2017	RATES	2017-201	8 RATES		
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Undergraduate *	Missouri	Semester	None	\$276.20		\$282.00		2.1%	\$5.80
	Nonresident	Semester	None	\$822.00		\$839.30		2.1%	\$17.30
Graduate	Missouri	Semester	None	\$352.60		\$360.00		2.1%	\$7.40
	Nonresident	Semester	None	\$965.50		\$985.80		2.1%	\$20.30
Law, JD	Missouri Nonresident	Semester Semester	None None	\$634.90 \$1,207.60		\$648.20 \$1,233.00		2.1% 2.1%	\$13.30 \$25.40
Law, LLM	Missouri Nonresident	Semester Semester	None None	\$713.60 \$1,366.00		\$728.60 \$1,394.70		2.1% 2.1%	\$15.00 \$28.70
Medicine, MD	Missouri	Semester	18	\$770.80	\$13,875.10	\$817.10	\$14,707.60	6.0%	\$832.50
	Missouri	Summer	8	\$770.80	\$6,166.70	\$817.10	\$6,536.70	6.0%	\$370.00
	Nonresident	Semester	18	\$1,569.80	\$28,256.70	\$1,664.00	\$29,952.10	6.0%	\$1,695.40
	Nonresident	Summer	8	\$1,569.80	\$12,558.60	\$1,664.00	\$13,312.10	6.0%	\$753.50
Veterinary Medicine,	Missouri	Semester	16	\$746.90	\$11,949.70	\$762.50	\$12,200.60	2.1%	\$250.90
DVM	Nonresident	Semester	16	\$1,655.40	\$26,485.70	\$1,846.40	\$29,541.90	11.5%	\$3,056.20

^{*} Falls under SB389

UNIVERSITY OF MISSOURI - Columbia Supplemental Course Fees and Other Enrollment Fees Beginning with the 2017 Fall Session May 23, 2017

	2016-2017	RATES	2017-2018	RATES		
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$13.20		\$13.49		2.2%	\$0.29
College of Ag, Food and Natural Resources Course Fee	\$50.60		\$52.10		3.0%	\$1.50
College of Arts & Science Course Fee**	\$35.00		\$40.00		14.3%	\$5.00
Trulaske College of Business Undergraduate Course Fee	\$84.60		\$92.60		9.5%	\$8.00
Trulaske College of Business Graduate Course Fee	\$99.00		\$108.40		9.5%	\$9.40
College of Education Graduate Course Fee	\$41.70		\$43.00		3.1%	\$1.30
College of Education Undergrad Course Fee	\$49.40		\$50.90		3.0%	\$1.50
College of Engineering Course Fee	\$84.90		\$90.00		6.0%	\$5.10
Engineering Excellence Course Fee - Resident	\$32.40		\$34.30		5.9%	\$1.90
Engineering Excellence Course Fee - Non-Resident	\$75.70		\$80.20		5.9%	\$4.50
School of Health Professions Course Fee	\$95.20		\$98.10		3.0%	\$2.90
Health Management and Informatics Course Fee	\$31.10		\$32.00		2.9%	\$0.90
School of Journalism Course Fee	\$76.80		\$79.10		3.0%	\$2.30
Sinclair School of Nursing Clinical Nursing Graduate Fee	\$197.20		\$203.10		3.0%	\$5.90
Sinclair School of Nursing Undergraduate Course Fee	\$96.40		\$99.30		3.0%	\$2.90
College of Human Environmental Sciences Course Fee	\$55.10		\$56.80		3.1%	\$1.70
Truman School Course Fee	\$41.20		\$42.40		2.9%	\$1.20
Accountancy Program Fee		\$532.50		\$543.70	2.1%	\$11.20
Medical School Laboratory/Resource Fee		\$764.50		\$787.40	3.0%	\$22.90
Applied Music Fee		\$243.30		\$250.60	3.0%	\$7.30
Graduate eLearning and Special Program Delivery Minimum	\$352.60		\$360.00		2.1%	\$7.40
Graduate eLearning and Special Program Delivery Maximum	\$1,500.00		\$1,750.00		16.7%	\$250.00
eLearning Vet Med-Deans Certificate Courses in Vet Biomed Tech	\$406.50		\$415.00		2.1%	\$8.50
Undergrad eLearning (distance students only) Minimum	\$354.70		\$362.10		2.1%	\$7.40
Undergrad eLearning (distance students only) Maximum	\$354.70		\$839.30		136.6%	\$484.60
Examination Only - Graduate Enrollment (tuition)		\$352.60		\$360.00	2.1%	\$7.40
CE Instructional Fee - Minimum	\$276.20		\$282.00		2.1%	\$5.80
CE Instructional Fee - Maximum	\$1,000.00		\$1,250.00		25.0%	\$250.00

^{*} Falls under SB389

^{**} Multi-year fee phase in previously approved

UNIVERSITY OF MISSOURI - Kansas City Tuition Rates Beginning with the 2017 Fall Session May 23, 2017

TUITION				2016-2017	RATES	2017-201	8 RATES		
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Undergraduate *	Missouri	Semester	None	\$272.30		\$278.00		2.1%	\$5.70
	Nonresident	Semester	None	\$732.30		\$768.90		5.0%	\$36.60
	Metropolitan	Semester	None	\$272.30		\$278.00		2.1%	\$5.70
Graduate	Missouri	Semester	None	\$359.01		\$377.00		5.0%	\$17.99
	Nonresident	Semester	None	\$926.95		\$973.30		5.0%	\$46.35
	Metropolitan	Semester	None	\$359.01		\$377.00		5.0%	\$17.99
Anesthesia, UMKC	Missouri	Semester	18		\$11,262.80		\$11,431.70	1.5%	\$168.90
MS	Missouri	Summer	18		\$7,508.40		\$7,621.00	1.5%	\$112.60
	Nonresident	Semester	18		\$13,447.90		\$13,649.60	1.5%	\$201.70
	Nonresident	Summer	18		\$8,965.50		\$9,100.00	1.5%	\$134.50
Med Physician Asst	Missouri	Semester	18		\$10,460.80		\$10,617.70	1.5%	\$156.90
MS	Missouri	Summer	18		\$6,973.80		\$7,078.40	1.5%	\$104.60
	Nonresident	Semester	18		\$12,552.90		\$12,741.20	1.5%	\$188.30
	Nonresident	Summer	18		\$8,368.70		\$8,494.20	1.5%	\$125.50
Dentistry, DDS	Missouri	Semester	16	\$939.90	\$15,037.80	\$986.90	\$15,789.70	5.0%	\$751.90
, , , , , ,	Missouri	Summer	8	\$939.90	\$7,518.90	\$986.90	\$7,894.80	5.0%	\$375.90
	Nonresident	Semester	16	\$1,873.10	\$29,970.20	\$1,966.80	\$31,468.70	5.0%	\$1,498.50
	Nonresident	Summer	8	\$1,873.10	\$14,985.10	\$1,966.80	\$15,734.40	5.0%	\$749.30
Dentistry,	Missouri	Semester	14	\$1,038.00	\$14,532.20	\$1,069.20	\$14,968.20	3.0%	\$436.00
Graduate Certificate	Missouri	Summer	7	\$1,038.00	\$7,266.00	\$1,069.10	\$7,484.00	3.0%	\$218.00
and MS	Nonresident	Semester	14	\$2,072.30	\$29,012.10	\$2,134.50	\$29,882.50	3.0%	\$870.40
	Nonresident	Summer	7	\$2,072.30	\$14,506.10	\$2,134.50	\$14,941.30	3.0%	\$435.20
Law, JD	Missouri	Semester	None	\$575.10		\$587.20		2.1%	\$12.10
	Nonresident	Semester	None	\$1,135.40		\$1,159.20		2.1%	\$23.80
Law, LLM	Missouri	Semester	None	\$697.40		\$712.00		2.1%	\$14.60
	Nonresident	Semester	None	\$1,379.90		\$1,408.90		2.1%	\$29.00
Medicine,	Missouri	Semester	16	\$601.10	\$9,617.20	\$610.10	\$9,761.50	1.5%	\$144.30
MD, Years 1 and 2	Missouri	Summer	8	\$601.10	\$4,808.60	\$610.10	\$4,880.70	1.5%	\$72.10
	Regional Regional	Semester Summer	16 8	\$901.60 \$901.60	\$14,425.80 \$7,212.90	\$915.10 \$915.10	\$14,642.20 \$7,321.10	1.5% 1.5%	\$216.40 \$108.20
	Nonresident	Semester	8 16	\$1,202.10	\$19,234.30	\$1,220.20	\$19,522.80	1.5%	\$108.20
	Nonresident	Summer	8	\$1,202.20	\$9,617.20	\$1,220.20	\$9,761.50	1.5%	\$144.30
Medicine.	Missouri	Semester	18	\$628.80	\$11,317.60	\$638.20	\$11,487.40	1.5%	\$169.80
MD, Years 3 thru 6	Missouri	Summer	12	\$628.70	\$7,544.90	\$638.20	\$7,658.10	1.5%	\$113.20
	Regional	Semester	18	\$943.20	\$16,977.30	\$957.30	\$17,232.00	1.5%	\$254.70
	Regional	Summer	12	\$943.20	\$11,318.30	\$957.30	\$11,488.10	1.5%	\$169.80
	Nonresident	Semester	18	\$1,257.50	\$22,635.10	\$1,276.40	\$22,974.60	1.5%	\$339.50
	Nonresident	Summer	12	\$1,257.50	\$15,090.10	\$1,276.40	\$15,316.50	1.5%	\$226.40
Pharmacy, Dpharm	Missouri	Semester	15	\$668.60	\$10,029.50	\$722.10	\$10,831.90	8.0%	\$802.40
	Missouri	Summer	6	\$668.60	\$4,011.80	\$722.10	\$4,332.70	8.0%	\$320.90
	Nonresident	Semester	15	\$1,470.20	\$22,052.30	\$1,587.80	\$23,816.50	8.0%	\$1,764.20
	Nonresident	Summer	6	\$1,470.20	\$8,821.10	\$1,587.80	\$9,526.80	8.0%	\$705.70
Nursing Graduate	Missouri	Semester	None	\$450.00		\$500.00		11.1%	\$50.00
	Nonresident	Semester	None	\$992.00		\$1,042.00		5.0%	\$50.00

^{*} Falls under SB389

UNIVERSITY OF MISSOURI - Kansas City Supplemental Course Fees and Other Enrollment Fees Beginning with the 2017 Fall Session May 23, 2017

	2016-2017	2016-2017 RATES		8 RATES		
	Per Credit		Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour	Flat Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$13.80		\$14.10		2.2%	\$0.30
Counseling Psychology Graduate Course Fee	\$38.40		\$38.40		0.0%	\$0.00
Bloch School Graduate Business Supplemental Fee	\$90.00		\$94.50		5.0%	\$4.50
Bloch School Undergraduate Course Fee	\$60.00		\$63.00		5.0%	\$3.00
Bloch School Public Administration Graduate Course Fee	\$31.10		\$32.70		5.1%	\$1.60
School of Biological Sciences Fee	\$25.00		\$25.00		0.0%	\$0.00
School of Education Course Fee	\$16.10		\$16.90		5.0%	\$0.80
Engineering Course Fee	\$80.00		\$84.00		5.0%	\$4.00
Legal Technology Fee (Law School)	\$8.10		\$8.30		2.5%	\$0.20
Clinical Nursing Fee, MS & Pre-Licensure level	\$192.80		\$202.40		5.0%	\$9.60
A&S Media Studies Lab/Studio Fee	\$32.20		\$33.80		5.0%	\$1.60
A&S Science Lab Fee	\$13.00		\$13.70		5.4%	\$0.70
A&S Studio Arts Fee	\$29.30		\$30.80		5.1%	\$1.50
Online Course Fee **	\$30.00		\$45.00		50.0%	\$15.00
Conservatory Undergraduate Program fee	\$42.00		\$44.10		5.0%	\$2.10
Conservatory Graduate Program fee	\$56.00		\$58.80		5.0%	\$2.80
Nursing Simulation Course Fee - new	n/a		\$30.00		n/a	n/a
Social Work Field Graduate Education Fee - new	n/a		\$25.00		n/a	n/a
Graduate eLearning and Special Program Delivery Minimum	\$359.01		\$377.00		5.0%	\$17.99
Graduate eLearning and Special Program Delivery Maximum	\$926.95		\$973.30		5.0%	\$46.35
Examination Only - Graduate Enrollment		\$359.01		\$377.00	5.0%	\$17.99
CE Instructional Fee - Minimum	\$272.30		\$278.00		2.1%	\$5.70
CE Instructional Fee - Maximum	\$926.95		\$973.30		5.0%	\$46.35

^{*} Falls under SB389

^{**} Multi-year fee phase in previously approved

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY

Tuition Rates Beginning with the 2017 Fall Session May 23, 2017

TUITION	2016-2017	7 RATES	2017-2018	RATES					
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$276.20		\$282.00		2.1%	\$5.80
	Nonresident	Semester	None	\$851.80		\$877.40		3.0%	\$25.60
Graduate	Missouri	Semester	None	\$398.60		\$410.60		3.0%	\$12.00
	Nonresident	Semester	None	\$1,138.00		\$1,206.30		6.0%	\$68.30
Business, MBA	Missouri	Semester	na	\$676.10		\$696.40		3.0%	\$20.30
	Nonresident	Semester	na	\$1,196.50		\$1,268.30		6.0%	\$71.80

^{*} Falls under SB389

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY

Supplemental Course Fees and Other Enrollment Fees Beginning with the 2017 Fall Session May 23, 2017

	2016-2017 RATES		2017-2018 RATES			
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$14.00		\$14.29		2.1%	\$0.29
Engineering and Sciences Course Fee **	\$140.00		\$175.00		25.0%	\$35.00
Business and Information Technology Course Fee **	\$67.00		\$84.00		25.4%	\$17.00
Graduate eLearning and Special Program Delivery Minimum	\$398.60		\$410.60		3.0%	\$12.00
Graduate eLearning and Special Program Delivery Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$398.60		\$410.60	3.0%	\$12.00
CE Instructional Fee - Minimum	\$276.20		\$282.00		2.1%	\$5.80
CE Instructional Fee - Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00

^{*} Falls under SB389

^{**} Multi-year fee phase in previously approved

UNIVERSITY OF MISSOURI - St. Louis

Tuition Rates Beginning with the 2017 Fall Session May 23, 2017

TUITION	2016-2017 RATES		2017-2018 RATES						
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$335.50		\$342.50		2.1%	\$7.00
	Nonresident	Semester	None	\$875.90		\$910.90		4.0%	\$35.00
	Metropolitan	Semester	None	\$335.50		\$342.50		2.1%	\$7.00
	Illinois	Semester	None	n/a		\$342.50		n/a	n/a
Graduate	Missouri	Semester	None	\$444.50		\$466.70		5.0%	\$22.20
	Nonresident	Semester	None	\$1,091.00		\$1,145.60		5.0%	\$54.60
	Metropolitan	Semester	None	\$444.50		\$466.70		5.0%	\$22.20
Optometry, OD	Missouri	Semester	16	\$717.80	\$11,484.80	\$732.90	\$11,726.40	2.1%	\$15.10
	Nonresident	Semester	16	\$1,219.40	\$19,510.40	\$1,245.00	\$19,920.00	2.1%	\$25.60

^{*} Falls under SB389

UNIVERSITY OF MISSOURI - St. Louis Supplemental Course Fees and Other Enrollment Fees Beginning with the 2017 Fall Session May 23, 2017

	2016-2017 RATES			2017-2018	RATES	
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Art History Supplemental Course Fee	\$3.30		\$3.30		0.0%	\$0.00
College of Business Administraton Graduate Course Fee	\$95.00		\$115.00		21.1%	\$20.00
College of Business Administraton Undergraduate Course Fee	\$75.00		\$80.00		6.7%	\$5.00
College of Education Supplemental Course Fee	\$20.00		\$28.00		40.0%	\$8.00
Engineering Course Fee	\$170.00		\$173.40		2.0%	\$3.40
Media & Communications Studies Lab/Studio Course Fee	\$31.40		\$32.00		1.9%	\$0.60
Nursing Undergraduate Course Fee	\$215.60		\$215.60		0.0%	\$0.00
Nursing Graduate Course Fee - Phasing out *	\$69.80		\$69.80		0.0%	\$0.00
Clinical Nursing Fee, MS - Phasing out *	\$193.50		\$193.50		0.0%	\$0.00
Nursing DNP Fee - Restructure *	n/a		\$250.00		n/a	n/a
Online Fee for 100% online courses	\$59.70		\$61.00		2.2%	\$1.30
Online Fee for partially (75%-99%) online courses	\$50.00		\$51.00		2.0%	\$1.00
Online Fee for blended (30%-74%) online courses	\$25.00		\$25.50		2.0%	\$0.50
College of Arts & Sciences Science Lab Fee	\$12.80		\$25.00		95.3%	\$12.20
College of Arts & Sciences Advising Fee	\$10.00		\$10.20		2.0%	\$0.20
Social Work Supplemental Fee Undergraduate	\$10.00		\$18.00		80.0%	\$8.00
Social Work Supplemental Fee Graduate	\$10.00		\$20.00		100.0%	\$10.00
Studio Arts Fee, UMSL (BFA)	\$29.30		\$35.00		19.5%	\$5.70
Theater and Dance Supplemental Course Fee	\$31.40		\$35.00		11.5%	\$3.60
Applied Music Fee		\$240.60		\$340.00	41.3%	\$99.40
Patients Care Center Supplemental Fee		\$900.00		\$900.00	0.0%	\$0.00
Graduate eLearning and Special Program Delivery Minimum	\$444.50		\$466.70		5.0%	\$22.20
Graduate eLearning and Special Program Delivery Maximum	\$2,000.00		\$2,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$444.50		\$466.70	5.0%	\$22.20
CE Instructional Fee - Minimum	\$335.50		\$342.50		2.1%	\$7.00
CE Instructional Fee - Maximum	\$2,000.00		\$2,000.00	_	0.0%	\$0.00

^{*} DNP fee is replacing Nursing Graduate fee and Clinical Nursing fee. MSN program and associated Nursing Graduate fee and Clinical Nursing fee will phase out when students graduate in May 2018.